- Durée d’échelon Indice brut (IB) Indice majoré (IM) Salaire brut

. 1ee Terminal 761 627 2938,14 €
. 15e 3ans 747 617 2891,28 €
. l8e 3ans 716 593 2778,81¢€
. 13e 3ans 695 577 2703,84 €
. 12 2 ans 672 560 2624,17 €
. 1le 2 ans 650 543 254451 €
. 10e 2 ans 627 526 2464,85 €
% 2 ans 606 509 2385,19 €
. 8 2 ans 582 492 2305,52 €
7 2 ans 561 475 2225,86 €
. 6e 2 ans 539 458 2146,20 €
. se 2 ans 513 441 2 066,54 €
% 2 ans 491 424 1986,87 €
3 2 ans 465 407 1907,21€
22 lan6m 444 390 1827,55 €
o ler lan6m 412 368 1724,46 €



